
Ansel finds ^ of 12 as follows:
3

1
Step 1: He finds - of 12 by dividing 12 by 3:

3
Step 2: He multiplies the result by 2:

12 -r 3 = 4 (4 is 1 of 12)
3

4x2 = 8 (8 is ™ of 12)
3

10. Find the amount using Ansel's method.

a) - of 9; 3 b) ^of8 c) -of 15' 3
d) - of 10

5

of 9 is of 8 is of 15 is - of 10 is
5

So - of 9 is
3

So — of 8 is
4

So - of 15 is
3

So — of 10 is
5

e) - of 25' 5
f) -of 14' 7

g) — of 18y; 6 h) - of 12' 2

i) ?of12 j) — of 21" 3 k) -of 16
8

I) -of 21

11. Five children are on a bus. - are girls. How many girls are on the bus?
5

12. One kilogram of plums costs $8. How much would — of a kilogram cost?

13. Josh has 12 apples. He gave away - of the apples. How many did he keep?

BONUS^ Karen has 120 stamps. She gave away - of the stamps.

How many did she keep?


